Quick Release Mounts for Sim Rigs

N QR4rigs’

® Change your rig in seconds, spend more time in the game!

The QRMiin System is designed for rapid mount and dismount of Rudder Pedals and Racing Pedals to and
from your rig

Before fitting the QRMinSteel CSL Quick Release Plate Kit to your Fanatec CSL Pedals “‘
= =

The kit comes partially assembled with the QR Plates installed in each corner in the correct o\ L\ T

orientation for testing, shipping and reference.

You will need to remove some of the fixings to install your pedals if you have the Accelerator and/or Clutch in the
outermost position.

-~

) Looking from the underside, the arrangement of the
plates is shown here (left) for reference.
@ @ Gprd—@c—og@ @@
‘N The rear is at the top of the picture.

Hook plates |MPORTANT: Each QR Plate and Hook Plate requires 2x
sets of fixings.

If your pedals positions are NOT using the outermost
positions, then you can skip to Step 3.

D D In this example we are using 3 pedals equally spaced.
g @ @ ,[,
-y

Prepare your QRMinSteel CSL QR Plate Kit

1. Install 2 of the spare M8x22mm Screws into
the positions shown and fix through the
hook plates with M8 Nuts. Tighten these up
well, but not to the extreme.

Install M8x22mm
CSK Screws and fix

IMPORTANT: DO NOT add washers as these with M8 Nuts

will conflict with the pedals.

2. Remove the two outermost M8x22mm
Screws, Washers and Nuts from the Rear
Hook Plates, the 2 Screws and Nuts you just
installed will hold the Hook Plates in
position until you install your pedals.



Fitting the QRMinSteel CSL Quick Release Plate Kit to your Fanatec CSL Pedals

3.

4.

10.

11.

Turn your Fanatec CSL Pedals upside down.

Peel the backing off the self-adhesive tape that is
applied to the 3 rear spacers supplied in the fixing kit
and fit them to the bottom of each pedal as shown in
the picture right.

Put the Fanatec supplied Hard Mount Spacers for the
front fixings over the M6 Threaded Posts on the Heel
Plate as shown in the Fanatec CSL Pedal Manual on
page 3

Place the CSL Pedal assembly onto the QRMinSteel
Plate.

Fit two M6x35mm CSK screws through the front most
holes in the QR Plates and the Steel plate and screw
them into the M6 threaded holes in the Heel Plate of
the CSL Assembly. Ensure the Hard Mount Spacers are
still in position.

Fit two M8x30mm Countersunk screws through the
rear Hook Plates and Steel Plate and then through the
Accelerator and Clutch Pedal and secure in place
loosely with M8 Washers and Nuts. We will tighten
them up later.

In the Fixing Kit, you will find 2 Brake Support pieces. If
you have a central Catch Plate installed from QRMin
Kit x2, or x6, you may need to use the short one to
avoid conflicts with the rear Catch Plate, otherwise use
the tall Brake Support.

Brake

ll Supports

QR4rigs Supplied
Self Adhesive Spacer

L—ﬁ I
o
i
i

o H @
& &
U ot l o-ctP
1@ '@ @
I " § - | S|
LoI o o ol .o |lo] o ol o |lo

Fanatec Supplied
Hard Mount Spacer

M8x30mm Screws, M8 Washers and nuts

a B
@ )
® © @ @ © 6 @ ©@ B © ©

Q

M6 x 35mm CSK Screws

Fit a M8x30mm CSK Screw through the Brake Support and then through the Steel Plate and Brake Pedal and
secure in place loosely with M8 Washer and Nut. We will tighten it up later.

Square up your pedal assembly and tighten all 5 sets of fixings well, but not to the extreme.

Refer to the Appendix for more examples of fitment and further reference.

There are spare fixings to enable you to fit your pedals in multiple configurations.



https://fanatec.com/media/pdf/c7/ef/87/P1903-CSL-P-Manual-EN_01.pdf?_gl=1*13kwz7m*_up*MQ..*_ga*NDgzMTY0MzA0LjE3MjcwMzI1ODE.*_ga_Q6VYC4JPVE*MTcyNzAzMjU4MC4xLjAuMTcyNzAzMjU4MC4wLjAuMA..

Appendix

IMPORTANT: The QR and Hook plates MUST be fixed in the positions shown below, regardless of where you position

your pedals, although the fixings will vary depending on your pedal configuration.

Standard 3 Pedal Configuration with equal spacing

e ~
Brake Support
©) ole) :@:) =le ©)

Hook Plate Hook Plate

© M8x30mm CSK Screw, Washer and Nut
° M8x22mm CSK Screw and Nut
© M8x22mm CsK Screw, Washer and Nut

© M6x35mm CSK Screw

QR Plate QR Plate
JO .
o ©

3 Pedal configuration with equal spacing

J

Staggered 3 Pedal configuration

M8x30mm Screws, M8 Washers and nuts

M8x30mm Screws, M8 Washers and nuts

o I‘

o G

] -

Ul © oL X XN | © [ XX JO| ©-

)
P —

Screws, M8 ‘

®@ @ ® @ @ @ @@ © @ @ e

[l ¥]

Ll 1

®@ @ @ ©®© ©® @ © @ © © 0

o

-~

@ @ @ ©®@ ® 6 ©®© 6 6 ©® e

@ D

@ v]

© ® ®© ®@ ©® ® © ©®@ © © 0

1)

G}\\%Mm T’g/rg—'/ ~

M6 x 35mm CSK Screws

G}\\%MA T@Q/E/

M6 x 35mm CSK Screws

2 Pedal configuration

M8x22mm Screws, M8 Washers and nuts

M8x30mm Screws, M8 Washers and nuts

@ @ ® @ ® ©® ©® @ ©® @ ©

@ )]

a 1))

®©@ @ ® @ ©®© © ® G 6 6 6

e}

P 2

S

M6 x 35mm CSK Screws

If you require further support, please use the contact form on our website, or email us directly
support@agrarigs.com, we will be more than happy to help you.



https://qr4rigs.com/index.php?main_page=contact_us
mailto:support@qr4rigs.com

